2X:
I-I il—l
cHol: TLrael

Ol &F A

Al A

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
otd z2te| 1) 45,785,685 38,661,449 7,124,236
= 147,148 147,148 0
s 2,898,000 2,813,000 85,000
& 6,548,366 6,383,366 165,000
= 210,000 0 210,000
i 35,982,171 29,317,935 6,664,236
THEETHOH CHEMAH 7= 2,136,209 2,072,709 63,500
= 110,148 110,148 0
= 48,066 48,066 0
i 1,977,995 1,914,495 63,500
Metzte] oHM 2ok DA 1,124,249 1,127,249 A3,000
= 9,722 A, 722 0
L= 10,061 10,061 0
= 1,019,466 1,022,466 A3,000
Mot &= 589,758 592,758 A3,000
301 LEEEF 2,600 5,600 A3,000
11 HALAHIXIEZ 2,000 5,000 23,000
O3BAE ZATH A E0 Eaf= 0 3,000 23,000
e D19t E- 5} 966,960 900,460 66,500
= 15,426 15,426 0
L= 38,005 38,005 0
ik 913,529 847,029 66,500
Ol Z=& X2 A 582,271 536,271 46,000
308 RXISHMSOIH 63,271 50,083 13,1838
10 HiHI2SdXJAFLEx 63,271 50,083 13,188
OAIE R X 2= 13,188 0 13,188
401 AIEHIZ 28I 446,000 400,000 46,000
01 Al&Hl 446,000 400,000 46,000
OultlzZ SgsUAIRY el22d 446,000 400,000 46,000
403 X HMS 201 73,000 86,188 A 13,188
03 Ol =28 XNJAX2EX 73,000 86,1838 213,188
OAlE 2 X 24| 0 13,188 213,188
ILAAILEHl 72t 72,340 54,340 18,000
201 22 62,340 54,340 8,000
02 2324l 62,340 54,340 8,000

Otlalg==Ald SXl2e

4,000,000 *4H 2~ 16,000 8,000 8,000
401 AIEHIZ 2018 10,000 0 10,000
01 Al&HI 10,000 0 10,000
OoglgrglagsAld 2| &X 10,000 0 10,000
Qlere] 222 25,500 23,000 2,500
201 23| 22,500 20,000 2,500
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FA orA 2|t

g NGmed2dMA 7=

el NEmged el (SH9 &)

SA - A - S9I(E) - HIRAY - BES o &t 0l F o HIRS2
Od=t 2ecl == FBISA 10,000 0 10,000
Od+t 2%el =2 FHISA 30,000 0 30,000
O tHEel =2 ZHISA 30,000 0 30,000
O2=+H stdil= =2 FHISA 20,000 0 20,000
O#AE Soel MU= ZHISA 15,000 0 15,000
OAHE Sl =2 FHISA 20,000 0 20,000
O&AH o2el =2 HUIZBA 30,000 0 30,000
O&AH =S8l =2 ZHISA 20,000 0 20,000
O A =l MU= ZHISA 50,000 0 50,000
OZEH A s2FHIZA 20,000 0 20,000
OZEH gZ2|(UR3) =2 FHIS
At 15,000 0 15,000

OZEH SIIel =2 FHISA 17,000 0 17,000
OZEH 3S0tE =2 ZHISA 30,000 0 30,000
O2EH 2=22(10Y) =2 FHIZA 20,000 0 20,000
OZdH i =2 FHISA 20,000 0 20,000
OZ&H HHfIS =2 HHISA 30,000 0 30,000
OZdH JI=0tE =2 ZHISA 15,000 0 15,000
OZds e€30l= =2 ZHISA 30,000 0 30,000
OSXIH 2|20t= =2 ZHISA 20,000 0 20,000
O=XIE At=el 2 HHISA 25,000 0 25,000
Og4 0I0tS =2 EHISA 20,000 0 20,000
Og4 Xitits =2 SHISA 20,000 0 20,000
O2g dcl 52 ZYSA 20,000 0 20,000
O4d= 2 (tEhel s2HE SAt 47,000 0 47,000
Od MEE AFSAM 50,000 0 50,000
Od== &20t2 === ZHISA 15,000 0 15,000
O2= HHOIS ti=AlE FEISA 20,000 0 20,000
O goAltsS otz FHISA 20,000 0 20,000
O QA0S =2 FHISAt 20,000 0 20,000
O2=+ B2H0t2 MHAEXE FHISA 50,000 0 50,000
02z 2| SZEESA 30,000 0 30,000
O&Hl A2l 2 FHEISA 15,000 0 15,000
O& Al dAiel tH+=2 HEIS At 20,000 0 20,000
Od A S8 (AM)el &2 FHISA 30,000 0 30,000
O&H Fgel th+2 FHISA 20,000 0 20,000
O&tHl 22l 2 SXISAt 15,000 0 15,000
OZE StHitE MY s= SHISA 20,000 0 20,000
OZE FAHOIS B2 FHISA 20,000 0 20,000
O 0I20t2 =2 EHISA 37,000 0 37,000
OZd EX0t2 Y2 =ESA 15,000 0 15,000
OZd EX0ts 2 LESA 30,000 0 30,000
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2A:

E M

e (&2 &3)
2AH - 33 A(SA) - MM = (1;| Palgely | & A Hlwsz2

Ootserd, UZHY|, IAMRI|ISA 1,855,000 1,455,000 400,000

ORFLE & E= 485,000 135,000 350,000

O==d Z2Y =T ZdAE 100,000 0 100,000

O&lE THeI0tS THoHGIZAr 100,000 0 100,000

OF42L NH2AIY HIGHAIS F0I=2l AL

o 30,000 0 30,000

A oteed Ny 30,322,000 27,737,000 2,585,000

= 37,000 37,000 0

Fay 2,898,000 2,813,000 85,000

[ 6,364,300 6,200,300 164,000

S 210,000 0 210,000

ey 20,812,700 18,686,700 2,126,000

OtETHOH I A 2= 10,400,000 10,300,000 100,000

AOtEF R[22 400,000 300,000 100,000

401 A& HIZLS0HY| 300,000 200,000 100,000

01 AlEHI 300,000 200,000 100,000

OABEAIE K22 300,000 200,000 100,000

Moo =72HMAH 2= 14,207,000 11,747,000 2,460,000

g 2,898,000 2,813,000 85,000

& 3,034,200 2,870,200 164,000

X 210,000 0 210,000

i 8,064,800 6,063,800 2,001,000

Ot Mol OlE=+ 2,200,000 1,400,000 800,000

401 A2 HIYLE0HHI 2,200,000 1,400,000 800,000

01 Al&HI 2,200,000 1,400,000 800,000

Ol S72AH 1,500,000 1,000,000 500,000

ORI THoHoIY SHa2el 700,000 400,000 300,000

MAHRAS X7 ZHIAI 5,7%,000 5,626,000 170,000

g 2,898,000 2,813,000 85,000

& 1,075,200 1,041,200 34,000

= 1,822,800 1,771,800 51,000

401 A& HILS0HY| 5,7%,000 5,626,000 170,000

= 2,898,000 2,813,000 85,000

& 1,075,200 1,041,200 34,000

= 1,822,800 1,771,800 51,000

01 Al&HI 5,781,294 5,611,294 170,000

OFI| Mol MR 7 ZUIAS 1,780,000 1,610,000 170,000

= 890,000 805,000 85,000

& 356,000 322,000 34,000

= 534,000 483,000 51,000

oINS A A 1,700,000 700,000 1,000,000

401 A& HIZLE0HY| 1,700,000 700,000 1,000,000

01 Al&HI 1,700,000 700,000 1,000,000
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2A:

orm zte| ot

[yl

M MAHD StEEE OHY
CH2l: THOHOIZ =S HM A 2= (SH9 H2)
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hlunsz

OTHoLIE XIS oA AL 1,200,000 700,000 500,000
O=0E =4 THolRIEH A 300,000 0 300,000
OdlE™ STHI+=2 JHIAIS 200,000 0 200,000
Mo =~ 130,000 0 130,000
(= 130,000 0 130,000
201 L2 60,000 0 60,000
= 60,000 0 60,000
01 AtR22telt] 60,000 0 60,000
OXHILIHLEA) 60,000 0 60,000
T 60,000 0 60,000
206 =4l 70,000 0 70,000
(= 70,000 0 70,000
01 =l 70,000 0 70,000
ON&N PU(LEA) 70,000 0 70,000
= 70,000 0 70,000
SHETHGH O =S AT (B X) 2,620,000 2,260,000 360,000
s 1,099,000 1,099,000 0
x 210,000 0 210,000
= 1,311,000 1,161,000 150,000
401 A& HIZ20HbI 2,620,000 2,260,000 360,000
= 1,099,000 1,099,000 0
EN 210,000 0 210,000
= 1,311,000 1,161,000 150,000
01 Al&HI 2,620,000 2,260,000 360,000

gal 2EH FHOIE B2 FHIMS(L
&) 30,000 30,000
x 30,000 30,000

Og4al 2= &X0te =2 ZASAHEE
) 20,000 20,000
X 20,000 20,000

Ogal 220 02 MHoloZAIE (S8
) 20,000 20,000
X 20,000 20,000

Ogal 2208 A0S THoH o2 A (&
&) 30,000 30,000
x 30,000 30,000

Ogal 2EH H02 TMHoloZAISE (S8
&) 50,000 50,000
X 50,000 50,000

Ogal XIAE SEOS oo A (&
&) 30,000 30,000
N 30,000 30,000

Ogal XIAE SEOS THololZ A (8
&) 30,000 30,000
N 30,000 30,000
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2A:

X XH -
o=

orA 2te| ot

[yl

MAHZA otdE&d e

Sl THoHMES2HMA += (SH9 H2)
S - B S(B) - HIRAY - BES Ofl by 3o C[ImE==l

| | ot xizel Hid BHiA 150,000 0 150,000

szl 5,715,000 5,690,000 25,000

= 37,000 37,000 0

= 3,380,100 3,330,100 0

[ 2,347,900 2,322,900 25,000

ol& 7 Xl 556,000 531,000 25,000

401 AIE2HIX S CHYI 545,000 520,000 25,000

01 AlZHl 545,000 520,000 25,000

OdtEAEZE 2+ & FX2c] 465,000 440,000 25,000

W s (eraeelm) 200,736 200,000 7%

L ESONES 736 0 736

2x3 gret 736 0 736

802 gtet=0Et 736 0 736

IEREESSEEE) 155 0 155
O20224 GSH S0 AHWTH A2

MoK Bhe 155 0 155

02 Al - HIEXSEEts 581 0 581

O20224 QIete|le 0| Xk 150 150
O GEE 2=0| QS JLAY X

IARL-1NS 46 0 46
O2 GEE SS0| AHWH J2ANL &

Xt eret 1 0 1
O20e1d 2SS COIA gt 3 0 3
O20219 ZRIOHKPE AN Biet(THI) 381 0 381

TAl 88X 22 1,419,244 1,414,244 5,000
= 21,000 20,000 1,000

i 1,398,244 1,394,244 4,000

SEZMAE =23 1,419,244 1,414,244 5,000
= 21,000 20,000 1,000

2 1,398,244 1,304,244 4,000

U (CTVET A X 105,000 100,000 5,000
LS 21,000 20,000 1,000

e 84,000 80,000 4,000

401 AIZHIX 20HH 105,000 100,000 5,000

S 21,000 20,000 1,000

o 84,000 80,000 4,000

01 AlZHI 105,000 100,000 5,000
OgdE WCIVEXI(XIY) 105,000 100,000 5,000

= 21,000 20,000 1,000

s 84,000 80,000 4,000
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